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HOSTEL SUPERINTENDENT CUM PHYSICAL TRAINING OFFICER IN TAMIL NADU 
EMPLOYMENT AND TRAINING SUBORDINATE SERVICES – 21/01/2024 

 
1. In which plain the Sambhar Salt lake is located? 

a. Brahmaputra Plain  b. Ganga Plain  c. Punjab Plain 
d. Rajasthan Plain   e. Answer not known 
ve;jg; gFjpapy; rhk;ghh; Vhp mike;Js;sJ? 
a. gpuk;kGj;jpuh rkntsp  b. fq;if rkntsp  c. gQ;rhg; rkntsp 
d. ,uh[];jhd; rkntsp  e. tpil njhpatpy;iy 
 

2. The year in which “The Dam Safety Bill” was passed in the Rajya Sabha? 
a. 2018 b. 2019 c. 2020  d. 2021 e. Answer not known 
ve;j Mz;L “mizg; ghJfhg;G kNrhjh” khepyq;fsitapy; epiwNtw;wg;gl;lJ. 
a. 2018 b. 2019 c. 2020  d. 2021 e. tpil njhpatpy;iy 
 

3. When was the song Jana-gana-mana adopted as India’s National Anthem by the 
constituent Assembly? 
a. 24 January 1950   b. 26 January 1950  c. 15 August 1947 
d. 26 November 1949  e. Answer not known 
[d-fd-kd ghly; vg;NghJ ,e;jpa Njrpaf; fPjkhf murpayikg;Gr; rigahy; 
Vw;Wf;nfhs;sg;gl;lJ? 
a. 24 [dthp 1950   b. 26 [dthp 1950  c. 15 Mf];l; 1947 
d. 26 etk;gh; 1949   e. tpil njhpatpy;iy 
 

4. Identify the Indian Paralympian who won gold medal for Women’s 10 m Air rifle 
shooting standing at the Tokyo Olympics 2020. 
a. Deepa Malik   b. Avani Lekhara  c. Zahara Nemati 
d. Natalia Partyka   e. Answer not known 
2020 Nlhf;fpNah xypk;gpf;fpy; ngz;fSf;fhd 10kP Vh; iugps; Jg;ghf;fpr; RLjy; Nghl;bapy; 
jq;fg; gjf;fk; ntd;w ,e;jpa ghuhypk;gpaid milahsk; fhz;f. 
a. jPgh khypf;   b. mthdp nyfhuh  c. r`huh nekhjp 
d. elhypah ghh;bfh   e. tpil njhpatpy;iy 
 

5. Who received Dada Saheb Phalke award for Tamil cinema in 1996? 
a. Devika Rani   b. Rajinikanth  c. Sivaji Ganesan 
d. Rajkumar    e. Answer not known 
1996 Mk; Mz;bw;fhd jhjh rhNfg; ghy;Nf tpUJ ngw;w jkpo; ebfh; ahh;? 
a. Njtpfh uhzp   b. u[pdpfhe;j;   c. rpth[p fNzrd; 
d. uh[;Fkhh;    e. tpil njhpatpy;iy 
 

6. The election symbol of the Nationalist Congress Party’s ‘clock’ shows ___ time. 
a. 10 : 10 b. 11 : 10 c. 12 : 10 d. 10 : 40 e. Answer not known 
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Njrpathj fhq;fpu]; fl;rpapd; Njh;jy; rpd;dkhd fbfhuk; ____ vd;w Neuk; fhl;b epw;Fk;. 
a. 10 : 10 b. 11 : 10 c. 12 : 10 d. 10 : 40 e. tpil njhpatpy;iy 
 

7. The latest Mars Rover by NASA’s ongoing Mars 2020 Mission is 
a. Sojourner   b. Perseverance or Percy  c. Spirit 
d. Opportunity  e. Answer not known 
ehrhtpd; khh;]; 2020 tpz;ntsp jiuAyhtp jpl;lj;jpd; jw;Nghija jiuAyhtpapd; ngah; 
vd;d? 
a. Nrh[h;dh;   b. ngh;rPtpud;]; my;yJ ngh;]p c. ];gphpl; 
d. Mg;gh;Rdpl;b  e. tpil njhpatpy;iy 
 

8. India’s firs indigenous COVID – 19 Vaccine is 
a. Covishield   b. Moderna   c. Covaxin 
d. Novavax   e. Answer not known 
,e;jpahtpd; Kjy; cs;ehl;L Nfhtpl;-19 jLg;G+rp 
a. Nfhtp~Py;L  b. khlh;dh   c. Nfhthf;rpd; 
d. Nehththf;];  e. tpil njhpatpy;iy 
 

9. How can the Fundamental Rights be suspended? 
a. If the Supreme Court so desires 
b. If the Prime Minister orders to this effect 
c. If the President Orders it during the national emergency 
d. All of the above 
e. Answer not known 
mbg;gil chpikfs; vt;thW epWj;jp itf;fg;gl;l KbAk;? 
a. cr;rePjpkd;wk; tpUk;gpdhy;    
b. gpujk ke;jphpapd; Mizapdhy; 
c. Njrpa mtruepiyapd; NghJ FbauR jiythpd; Mizapdhy; 
d. Nkw;fz;l midj;Jk; 
e. tpil njhpatpy;iy 
 

10. According to Dr. B.R. Ambedkar, which of the following Articles is known as “the heart 
and soul of the Indian Constitution”? 
a. Article 28   b. Article 29   c. Article 30 
d. Article 32   e. Answer not known 
lhf;lh; B.R. mk;Ngj;fhh; mth;fspd; $w;Wg;gb> fPo;f;fz;l rl;lg;gphpTfspy; vJ “,e;jpa 
murpayikg;Gr; rl;lj;jpd; ,jak; kw;Wk; Md;kh” vd;W mwpag;gLfpwJ. 
a. rl;lg;gphpT 28  b. rl;lg;ghpT 29  c. rl;lg;gphpT 30 
d. rl;lg;gphpT 32  e. tpil njhpatpy;iy 
 

11. The Ex-officio Chairman of the Rajya Sabha is 
a. The President  b. The Vice-President  c. The Speaker 
d. The Prime Minister e. Answer not known 
khepyq;fsitapd; jiytuhf nray;gLfpwth; 
a. FbauR jiyth;  b. FbauR Jizj; jiyth; c. rghehafh; 
d. gpujkh;   e. tpil njhpatpy;iy 
 

12. Which of the following Committee/Commissions made recommendations on the centre 
– State Relations? 
1. M.N. Venkatachalaiah Commission 
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2. Sarkaria Commission 
3. Punchhi Commission 
4. Rajamannar Committee  
a. 2 and 4    b. 3 and 1   c. 2, 3 and 4 
d. 1, 2 and 4    e. Answer not known 
gpd;tUtdtw;Ws; ve;jf; FO / Mizak; kj;jpa – khepy cwTfs; gw;wpa ghpe;Jiu 
nra;jd? 
1. M.N. ntq;flriyah Mizak; 
2. rh;f;fhhpah Mizak; 
3. Gd;r;rp Mizak; 
4. ,uh[hkd;dhh; FO 
a. 2 kw;Wk; 4   b. 3 kw;Wk; 1   c. 2> 3 kw;Wk; 4 
d. 1> 2 kw;Wk; 4  e. tpil njhpatpy;iy 
 

13. Which one of the following statement is incorrect? 
a. Pressure groups are the interest groups, that they are aligned with any political 

parties. 
b. Pressure groups can be called the informal face of politics 
c. Many pressure groups devote significant resources by carrying out research and 

maintaining websities. 
d. Many pressure groups are vital sources of information and render advice to the 

government. 
e. Answer not known 
fPo;fhZk; $w;Wfspy; xd;W jtwhdJ mjidf; fz;lwpf. 
a. mOj;jf; FOf;fs; ahTk; eyf; FOf;fs; vd miof;fg;Lk;> mit murpay; 

fl;rpfSld; ,ize;J nray;gLfpd;wd. 
b. murpaypd; kw;nwhU Kfk; vd;W mOj;jf; FOf;fisf; $wyhk;. 
c. gy mOj;jf; FOf;fs; Muha;r;rpfs; Nkw;nfhs;tJld; ,iza jsq;fisg; guhkhpj;J 

tUfpd;wd. 
d. murpd; nfhs;if cUthf;fj;jpy; mth;fs; Kf;fpa gq;fhw;wp gy Kf;fpa jfty;fis 

muRf;F mspj;J tUfpd;wdh;. 
e. tpil njhpatpy;iy 
 

14. Arranging following events in chronological order. 
1. The Plantation Labour Act 
2. The Hindu Widow Remarriage Act 
3. The Dowry Prohibition Act 
4. Indecent Representation Act 
a. 4, 1, 3, 2    b. 1, 4, 2, 3   c. 2, 1, 3, 4 
d. 1, 3, 2, 4    e. Answer not known  
gpd;tUtdtw;iw fhy thpir mbg;gilapy; thpirg;gLj;Jf 
(1) Njhl;l njhopyhsh;fs; rl;lk; 
(2) ,e;J tpjit kWkzr; rl;lk; 
(3) tujl;riz jilr; rl;lk; 
(4) mehfhpfkhf rpj;jhpj;jJf;nfjpuhd rl;lk; 
a. 4, 1, 3, 2    b. 1, 4, 2, 3   c. 2, 1, 3, 4 
d. 1, 3, 2, 4    e. tpil njhpatpy;iy 
 

15. To whom does Valluvar compare a person who is guarded by integrity? 
a. Woman stage artist  b. Mature Woman  c. Woman of Virtue 
d. Female dancer   e. Answer not known 
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jd;dpiy jtwhky; jd;idj;jhNd fhj;Jf;nfhz;L tho;fpwtiu ts;Sth; ahUld; 
xg;gpLfpwhh;? 
a. ehlf kfsph;   b. %jpd; kfsph;  c. fw;Gf;furp 
d. Mly; kfsph;   e. tpil njhpatpy;iy 
 

16. What is the main duty of the loving parent to their children? 
a. Teach to earn money     b. Get them married   
c. To gain the foremost place among the wise  d. Send them to war 
e. Answer not known 
je;ij kfw;fhw;Wk; ed;wp vdj; jpUf;Fws; vjidf; Fwpg;gpLfpwJ? 
a. nghUsPl;lr; nra;jy;     b. ,y;ywk; Vw;fr; nra;jy; 
c. mitaj;J Ke;jpapUg;gr; nray;   d. Nghhplr; nra;jy; 
e. tpil njhpatpy;iy 
 

17. What according to Valluvar will destroy one’s wealth and will lead to evil ways? 
a. Abusive language  b. Desire   c. Wrath 
d. Envy    e. Answer not known 
nry;tj;ij mopj;J xUtiuj; jPa topapy; nrYj;jf; $bajhf ts;Sth; Fwpg;gpLtJ 
ahJ? 
a. ,d;dhr; nrhy;   b. mth   c. ntFsp 
d. mOf;fhW    e. tpil njhpatpy;iy 
 

18. What according to Valluvar is called as the gains of life’s breath? 
a. Eating and to feed     b. To known and to teach 
c. Fame that comes through acts of charity  d. Learn and instruct 
e. Answer not known 
capUf;F Cjpakhf ts;Sth; vtw;iwf; Fwpg;gpLfpwhh;? 
a. cz;zy;> cz;Ztpj;jy; b. mwpjy;> mwptpj;jy; c. <jy;> ,irgl tho;jy; 
d. fw;wy;> fw;gpj;jy;   e. tpil njhpatpy;iy 
 

19. Valluvar compares the possibility of watching a tusker fight from a hill, to what? 
a. Actions of the wealthy doing business  b. Actions of the unwealthy 
c. Actions of the graceful     d. Actions of the valiant 
e. Answer not known 
‘Fd;Nwwp ahidg; Nghh; fz;lw;why;’ vDk; ctikia ts;Sth; vjw;Fg; 
gad;gLj;jpAs;shh;? 
a. nghUs; cilath; nra;Ak; nray;  b. nghUsw;wth; nra;Ak; nray; 
c. mUs; cilath; nra;Ak; nray;  d. typik cilath; nra;Ak; nray; 
e. tpil njhpatpy;iy 
 

20. What does Valluvar compare the process of awakening after a good sleep? 
a. Death b. Life  c. Birth d. Growth e. Answer not known 
cwq;fp tpopg;gij ts;Sth; vjNdhL xg;gpLfpwhh;? 
a. ,wg;G b. tho;T c. gpwg;G d. tsh;r;rp e. tpil njhpatpy;iy 
 

21. Match the following: 
A. 1976   1. UNO declaration of Human Rights 
B. 2007   2. Constitution of India 
C. 1950   3. 42nd Amendment Act 
D. 1948   4. Senior Citizens Act 
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 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 3 4 1 2 
d. 1 2 4 3 
e. Answer not known 
nghUj;jkhd tpilia Njh;e;njLj;J vOJf: 

A. 1976   1. I.eh.rig kdpj chpikfs; gpufldk; 
B. 2007   2. ,e;jpa murpayikg;G 
C. 1950   3. 42tJ murpayikg;G rl;l jpUj;jk; 
D. 1948   4. %j;j Fbkf;fs; rl;lk; 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 3 4 1 2 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

22. In which monthly magazine Subramanya Bharathi worked as the Editor. 
a. Swadesamitran   b. Chakravartini  c. The Hindu 
d. Young India   e. Answer not known 
Rg;gpukzpa ghujpahh; Mrphpauhf gzpahw;wpa khj ,jopd; ngah; vd;d? 
a. RNjrkpj;jpud;   b. rf;uth;j;jpdp  c. jp ,e;J 
d. aq; ,e;jpah   e. tpil njhpatpy;iy 
 

23. Choose the correct statement 
(i) P. Rangaiah was the first president of the Madras Mahajana Sabha 
(ii) George Joseph was played a leading role in organising the Home Rule League in 

Madurai 
(iii) Yakub Hasan, founder of the Madras branch of the Muslim league 
(iv) The Anti-Hindi conference held at Salem 
a. (i) and (iii) are correct    b. (ii) and (iv) are correct 
c. (i) and (iv) are correct    d. All are correct 
e. Answer not known 
rhpahd $w;iw Njh;e;njLf;fTk; 
(i) nrd;id kfh[d rigapd; Kjy; jiyth; P. uq;ifah nghWg;Ngw;whh;. 
(ii) [hh;[; N[hrg; kJiuapy; jd;dhl;rp ,af;fj;ij Vw;gLj;jpajpy; Kf;fpa gq;F 

tfpj;jhh;. 
(iii) K];ypk; yPf;fpd; nrd;idf; fpisia ahFg; `rd; epWtpdhh; 
(iv) ,e;jp vjph;g;G khehL Nryj;jpy; elj;jg; ngw;wJ 
a. (i) kw;Wk; (iii) rhp  b. (ii) kw;Wk; (iv) rhp  c. (i) kw;Wk; (iv) rhp 
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

24. Who drew the attention of the British to the suffering of Indigo Cultivation through his 
play Nil darpan? 
a. Dina Bandhu Mitra b. Romesh Chandra Dutt c. Dadabhai Naoroji 
d. Birsa Munda  e. Answer not known 
ePy; jh;gd; ehlfk; %ykhf ,z;bNfh gaphpLk; tptrhapfspd; ,d;dy;fs; Fwpj;J 
Mq;fpNyahpd; ftdj;Jf;F nfhz;L nrd;wth; ahh;? 
a. jPd ge;J kpj;uh  b. nuhNk~; re;jpu jj; c. jhjhgha; nesNuh[p 
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d. gph;rh Kz;lh  e. tpil njhpatpy;iy 
 

25. Anjalaiyammal belongs to _____ region of Tamil Nadu. 
a. Pudukottai   b. Cuddalore   c. Thiruvarur 
d. Madurai   e. Answer not known 
mQ;riyak;khs; jkpofj;jpd; _____ gFjpia Nrh;e;jth;. 
a. GJf;Nfhl;il  b. flY}h;   c. jpUth&h; 
d. kJiu   e. tpil njhpatpy;iy 
 

26. ____ was an ardent promoter of the famous Deccan Education Society. 
a. M.G. Ranade  b. Atmaram Pandurang c. R.G. Bhandarkar 
d. Dayananda Saraswati e. Answer not known 
jf;fhz fy;tpf; fofk; vd;Dk; Gfo;ngw;w mikg;igj; jPtpukhf Kd;ndLj;J nrd;wth;. 
a. M.G. uhdNl  b. Mj;khuhk; ghz;Luq; c. Mh;.[p. gz;lhh;fh; 
d. jahde;j ru];tjp e. tpil njhpatpy;iy 

 
27. Match the following: 

A. Aligarh Movement  1. Shibli Numani 
B. Ahmadiya Movement  2. Mohammed Qasim Nanotavi 
C. The Deoband Movement 3. Mirza Gulam Ahamed 
D. Nadwat-al-ulama  4. Syed Ahmad Khan 
 A B C D 
a. 4 2 3 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf: 
A. mypfhh; ,af;fk;  1. rpg;yp Ekhdp 
B. mfkjpah ,af;fk; 2. KfkJ fhrpk; ehNehjtp 
C. jpNahge;j; ,af;fk; 3. kph;rh Fyhk; mfkJ 
D. el;tj;-my;-cyhkh 4. iraJ mfkJ fhd; 
 A B C D 
a. 4 2 3 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

28. ____ was the first elected Legislative Council Member from the Depressed Classes in 
Madras Province. 
a. M.C. Rajah  b. Rettaimalai Srinivasan  c. T.M. Nair 
d. P. Varadarajulu  e. Answer not known 
nrd;id khfhzj;jpy; xLf;fg;gl;l kf;fs; gphptpypUe;J Kjd; Kiwahf rl;lNkyitf;Fj; 
Njh;e;njLf;fg;gl;lth; ____ Mthh;. 
a. vk.rp. uh[h  b. ,ul;ilkiy rPdpthrd;  c. b.vk;. ehah; 
d. gp. tujuh[PY  e. tpil njhpatpy;iy 
 

29. Which of the following statements are true about Ishwar Chandra Vidhyasagar? 
I. Female Education 
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II. Widow Remarriage 
III. Child Marriage 
a. I only   b. I and II only  c. III only 
d. I and III only  e. Answer not known 
<];th; re;jpu tpj;ahrhfh; gw;wpa rhpahd mwpf;ifiaj; Njh;e;njLf;fTk;. 
I.  ngz; fy;tp 
II. tpjit jpUkzk; 
III. Foe;ij jpUkzk; 
a. I kl;Lk;   b. I kw;Wk; II kl;Lk;  c. III kl;Lk; 
d. I kw;Wk; III kl;Lk;  e. tpil njhpatpy;iy 
 

30. The United Nations organization was formed in which year? 
a. 1948 b. 1946 c. 1947  d. 1945 e. Answer not known 
If;fpa ehLfs; rig ve;j Mz;by; cUthf;fg;gl;lJ? 
a. 1948 b. 1946 c. 1947  d. 1945 e. tpil njhpatpy;iy 
 

31. “The rights of every man are diminished when the rights of one man are threatened” 
who made this statement? 
a. Nikil Dev    b. Mandela   c. Aruna Roy 
d. John Kennedy   e. Answer not known 
“xU kdpjdpd; chpikfs; mr;RWj;jg;gLk; nghOJ xt;nthU kdpjdpd; chpikfSk; 
mOj;jg;gLfpd;wd”. ,e;j mwpf;ifia ntspapl;lJ ahh;? 
a. epfpy; Njt;   b. kz;Nlyh   c. mUzh uha; 
d. [hd; nfd;db   e. tpil njhpatpy;iy 

 
32. The Tamil Nadu Government has announced that the smart class rooms would be built 

in all 23,000 Government ____ in the next four years. 
a. Primary Schools  b. Secondary Schools c. Higher Secondary Schools 
d. Colleges   e. Answer not known 
mLj;j ehd;F Mz;Lfspy; midj;J 23>000 muR _____ fSk; njhopy; El;gj;jhy; Nkk;gl;l 
tFg;giwfshf khw;wg;gLk; vd jkpo;ehL muR mwptpj;Js;sJ. 
a. Muk;g gs;sp  b. Nky;epiyg; gs;sp  c. cah;epiyg; gs;sp 
d. fy;Y}hp   e. tpil njhpatpy;iy 
 

33. Malala won Nobel Peace Prize for her contribution in the field of  
a. Education   b. Women Trafficking  c. Child Labour 
d. Environment  e. Answer not known 
kyhyh ve;jj; Jiwapy; jdJ gq;fspg;gpw;fhf Nehgy; mikjpg; ghpirg; ngw;whh;. 
a. fy;tp   b. ngz;fs; flj;jy;   c. Foe;ij njhopyhsp 
d. Rw;Wr;#oy;  e. tpil njhpatpy;iy 
 

34. The Right to Education provides for free and compulsory education to all the children 
from the age group of 
a. 1 – 5 years   b. 5 – 10 years  c. 6 – 14 years 
d. 1 – 6 years   e. Answer not known 
fy;tpf;fhd chpikahdJ ve;j tajpidr; Nrh;e;j midj;J Foe;ijfSf;Fk; ,ytr 
kw;Wk; fl;lha fy;tpia toq;FfpwJ. 
a. 1 – 5 taR   b. 5 – 10 taR  c. 6 – 14 taR 
d. 1 – 6 taR   e. tpil njhpatpy;iy 
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35. Keezhadi site founded in the year 
a. February 2016   b. February 2017  c. February 2018 
d. February 2019   e. Answer not known 
fPobjsk; _____ Mz;by; epWtg;gl;lJ. 
a. gpg;uthp 2016   b. gpg;uthp 2017  c. gpg;uthp 2018 
d. gpg;uthp 2019   e. tpil njhpatpy;iy 
 

36. Tamil Nadu is an innovation based ____ with a strong performance in manufacturing 
and service. 
a. Culture    b. Economic   c. Social 
d. Administration   e. Answer not known 
jkpo;ehL xU fz;Lgpbg;G mbg;gilapyhdJ ____ cw;gj;jp kw;Wk; Nritapy; tYthd 
nray;jpwd; nfhz;lJ. 
a. fyhr;rhuk;    b. nghUshjhuk;  c. r%fk; 
d. eph;thfk;    e. tpil njhpatpy;iy 
 

37. ____ is the second largest railway station in Tamil Nadu and one of busiest railway 
station in Tamil Nadu. 
a. Kumbakonam  b. Chennai Central  c. Tiruchirappalli Junction 

d. Madurai   e. Answer not known 
_____ jkpo;ehl;bd; ,uz;lhtJ nghpa uapy; epiyak; kw;Wk; jkpo;ehl;bd; gugug;ghd uapy; 
epiyaq;fspy; xd;whFk;. 
a. Fk;gNfhzk;   b. nrd;id nrd;l;uy; c. jpUr;rpug;gs;sp re;jpg;G 
d. kJiu    e. tpil njhpatpy;iy 
 

38. Choose the correct answer. 
Name the policy of Lord Warren Hastings to create buffer zones to protect the company’s 
borders. 
a. Ring Fence   b. Doctrine of lapse  c. Divide and rule 
d. Subsidiary alliance  e. Answer not known 
thud; N`];bq;]; gpuG ,ilg;gl;l ehLfis jf;fitj;Jf; nfhs;s vj;jifa 
nfhs;ifia filgpbj;jhh; 
a. Rw;WNtypf; nfhs;if    b. thhpR ,of;Fk; nfhs;if  
c. gphpj;jhSk; nfhs;if    d. Jizg;gil jpl;lk; 
e. tpil njhpatpy;iy 
 

39. _____ launched guerrilla attacks on British at Odanilai. 
a. Polygar of sivagiri  b. Dheeran Chinnamalai  c. Oomathurai 
d. Maruthu Brother’s  e. Answer not known 
‘Xlhepiy’-apy; Mq;fpNyaUf;F vjpuhf nfhhpy;yhg; Nghh;Kiwia ifahz;lth;. 
a. rptfphp ghisaf;fhuh;  b. jPud; rpd;dkiy   c. Cikj;Jiu 
d. kUJ rNfhjuh;fs;  e. tpil njhpatpy;iy 
 

40. In 1907 Surat congress session whose name was proposed by the militant nationalists as 
the next president of the congress. 
a. Aurobindo Ghose  b. Dadabhai Naoroji   c. Pherozesha Mehta 
d. Lala Lajpat Rai  e. Answer not known 
#uj;jpy; eilngw;w fhq;fpuR khehl;by; fhq;fpurpd; mLj;j jiytuhfj; 
Njh;e;njLf;fg;gLtjw;F ahUila ngah; jPtpu Njrpa thjpfshy; Kd;nkhopag;gl;lJ? 
a. mutpe;j Nfh~;  b. jhjhgha; nesNuh[p  c. /ngNuh]; ~h Nkj;jh 
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d. yhyh y[gjp uha;  e. tpil njhpatpy;iy 
 

41. Bharatiyar was died in 
a. 1921 b. 1922 c. 1923  d. 1924 e. Answer not known 
ghujpahh; kiwe;j Mz;L 
a. 1921 b. 1922 c. 1923  d. 1924 e. tpil njhpatpy;iy 
 

42. ____ Newspaper was started by Jawaharlal Nehru? 
a. Common wheel   b. National Herald  c. Young India 
d. Khadar    e. Answer not known 
[t`h;yhy; NeUthy; njhlq;fg;gl;l gj;jphpf;if 
a. fhkd; tPy;    b. Ne~dy; n`uhy;L c. aq; ,e;jpah 
d. fjh;     e. tpil njhpatpy;iy 
 

43. The plan that caused Rajaji to resign 
a. Alcohol prohibition plan     b. Free Education scheme 
c. Irrigation scheme      d. Hereditary Educational policy 

e. Answer not known 
,uh[h[p gjtp tpyff; fhuzkhd jpl;lk; ahJ? 
a. kJ tpyf;Fj; jpl;lk;     b. ,ytrf; fy;tpj; jpl;lk; 
c. ePh; ghrdj; jpl;lk;      d. Fyf; fy;tpj; jpl;lk; 
e. tpil njhpatpy;iy 
 

44. Red Revolution related with 
1. Apple 
2. Meat 
3. Tomato 
4. Shrimp 
a. 1 and 2 only   b. 1 and 3 only  c. 2 and 3 only 
d. 3 and 4 only   e. Answer not known 
rptg;G Gul;rpAld; njhlh;GilaJ 
1. Mg;gps; 
2. ,iwr;rp 
3. jf;fhsp 
4. ,why; 
a. 1 kw;Wk; 2 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 3 kw;Wk; 4 kl;Lk;  e. tpil njhpatpy;iy 
 

45. Arrange chronological order of the events. 
1. Partition of Bengal 
2. Non-Co-Operation Movement 
3. Khilafat Movement 
4. Surat Split 
a. 3 2 1 4 b. 1 3 2 4 c. 1 4 2 3 d. 1 4 3 2 e. Answer not known 
fPo;f;fhZk; epfo;Tfis fhythpirgLj;Jf. 
1. tq;fg;gphptpid 
2. xj;Jioahik ,af;fk; 
3. fpyhgj; ,af;fk; 
4. #uj; gpsT 
a. 3 2 1 4 b. 1 3 2 4 c. 1 4 2 3 d. 1 4 3 2 e. tpil njhpatpy;iy 
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46. Assertion [A]: There have been steady increase in the prices of essential goods. 
Reason [R]:  It affects the purchasing power of the poor people. 
a. [A] is true but [R] is false. 
b. Both [A] and [R] are true and [R] is the correct explanation of [A]. 
c. [A] is false [R] is true 
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A] 
e. Answer not known 
$w;W [A]:  mj;jpahtrpa gz;lq;fspd; tpiy njhlh;e;J mjpfhpj;J tUfpwJ. 
fhuzk; [R]:  ,J Vio kf;fspd; thq;Fk; Mw;wiy ghjpf;fpwJ. 
a. [A] rhp kw;Wk; [R] jtW 
b. [A] kw;Wk; [R] ,uz;Lk; rhp> [R] vd;gJ [A] -tpw;fhd rhpahd tpsf;fkhFk; 
c. [A] jtW> [R] rhp 
d. [A] kw;Wk; [R] ,uz;Lk; rhp Mdhy; [R] vd;gJ [A]-tpw;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy 
 

47. Which one is not a Public Sector? 
a. NLC b. TISCO c. SAIL d. BSNL e. Answer not known 
vJ xd;W nghJj;Jiw ,y;iy? 
a. NLC b. TISCO c. SAIL d. BSNL e. tpil njhpatpy;iy 
 

48. Which first country to implement GST in 1954. 
a. India   b. England    c. France 
d. America   e. Answer not known 
1954 Mk; Mz;L Kjd; Kjypy; gz;lq;fs; kw;Wk; gzpfs; thpia mky;gLj;jpa ehL 
a. ,e;jpah   b. ,q;fpyhe;J   c. gpuhd;]; 
d. mnkhpf;fh   e. tpil njhpatpy;iy 
 

49. Which of the following statements are true about self-helping groups? 
1. Most SHGs are women’s group with 10 to 20 members 
2. The SHG promotes small savings 
3. SHGs are not self-managed 
a. 1 only   b. 1 and 2 only  c. 1 and 3 only 
d. 2 and 3 only  e. Answer not known 
Ra cjtpf; FOf;fs; vd;w jiyg;gpy; rhpahd thf;fpaq;fs; vit? 
1. ngUk;ghyhd Ra cjtpf;FOf;fs; 10 Kjy; 20 ngz; cWg;gpdh;fis nfhz;Ls;sJ. 
2. Ra cjtpf;FOf;fs; rpW Nrkpg;ig mjpfhpf;fpwJ. 
3. Ra cjtpf;FOf;fs; jq;fis jhq;fNs eph;tfpj;J nfhs;s KbahJ 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 2 kw;Wk; 3 kl;Lk; e. tpil njhpatpy;iy 

 
50. Choose the correct answer. 

West Bengal “Bengal iron works” company started in _____ year. 
a. 1700 b. 1780 c. 1870  d. 1970 e. Answer not known 
Nkw;F tq;fhsj;jpy; cs;s “tq;fhs ,Uk;G njhopy;” fk;ngdp _____ Mz;L epWtg;gl;lJ. 
a. 1700 b. 1780 c. 1870  d. 1970 e. tpil njhpatpy;iy 

 
51. Choose the right answer among type 

Which district in TN has the minimum density of population? 
(i) Thiruchirappalli 
(ii) The Nilgiris 
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(iii) Perambalur 
a. (i) and (iii) only   b. (ii) only   c. (i) and (ii) only 
d. (ii) and (iii) only   e. Answer not known 
jkpo;ehl;by; kf;fs; njhif mlh;j;jp Fiwthf cs;s khtl;lk; vJ? 
(i) jpUr;rpuhg;gs;sp 
(ii) ePyfphp 
(iii) nguk;gY}h; 
a. (i) kw;Wk; (iii) kl;Lk;  b. (iii) kl;Lk;   c. (i) kw;Wk; (ii) kl;Lk; 
d. (ii) kw;Wk; (iii) kl;Lk;  e. tpil njhpatpy;iy 

 
52. The primary organ infected during tuberculosis is 

a. Spleen   b. Lungs    c. Liver 
d. Heart   e. Answer not known 
fhr  Nehapdhy; ghjpf;fg;gLk; Kjd;ik cWg;G 
a. kz;zPuy;   b. EiuaPuy;    c. ,jak; 
d. ,jak;   e. tpil njhpatpy;iy 

 
53. The substrate present is pancreas Chymotrypsin is 

a. Fat   b. Sugar c. Protein d. Starch e. Answer not known 
fizaj;jpd; ifNkhl;hpg;]pdpy; fhzg;gLk; %yf;$W 
a. nfhOg;G   b. rh;f;fiu    c. Gujk; 
d. ];lhh;r;   e. tpil njhpatpy;iy 

 
54. The plant group which are popularly called as “Vascular Cryptogams” are 

a. Bryophytes  b. Pteridophytes  c. Gymnosperms 
d. Angiosperms  e. Answer not known 
‘th];Fyh; G+thj;jhtuq;fs;’ vd;W mwpag;gLk; jhtu FOkk; vJ? 
a. gpiuNah/igl;Lfs; b. nlhpl;Nlh/igl;Lfs; c. [pk;Ndh];ngh;k;fs; 
d. MQ;rpNah];ngh;k;fs; e. tpil njhpatpy;iy 

 
55. Disc-shaped biconcave cells are the characteristic feature of 

a. Lymphocytes  b. Leucocytes   c. Erythrocytes 

d. Phagocytes  e. Answer not known 
,UGwKk; Fope;j jl;L tbt mikg;ig nfhz;l nry; ____ MFk;. 
a. ypk;/Nghirl;Lfs; b. ypA+f;Nfhirl;Lfs; c. vhpj;Nuhirl;Lfs; 
d. /NgNfhirl;Lfs;  e. tpil njhpatpy;iy 

 
56. In acid medium, phenolphthalein is 

a. Blue  b. Pink c. Yellow d. Colourless e. Answer not known 
mkpy; Clfj;jpy; gpNdhy;g;jyPd; 
a. ePyk;   b. ,sQ;rptg;G  c. kQ;rs; 
d. epwkw;wJ   e. tpil njhpatpy;iy 

 
57. The principle nutrients are 

a. Nitrogen   b. Phosphorus  c. Potassium 
d. All the above  e. Answer not known 
Kjd;ik cuq;fs; vd;gd 
a. iel;u[d;   b. gh];gu];   c. nghl;lhrpak; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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58. Arrange the following steps involved in metallurgical process. 
1. Refining of metal 
2. Concentration of ore 
3. Production of crude metal 
a. 1, 3, 2  b. 2, 3, 1   c. 2, 1, 3 
d. 3, 2, 1  e. Answer not known 
cNyhftpay; nray;Kiwapy; cs;s fPo;fz;l gbfis rhpahf mLf;Ff: 
1. cNyhfj;ij J}a;ikahf;fy; 
2. jhJf;fis mlh;gpj;jy; 
3. gz;glh cNyhfj;ij cUthf;Fjy; 
a. 1, 3, 2  b. 2, 3, 1   c. 2, 1, 3 
d. 3, 2, 1  e. tpil njhpatpy;iy 

 
59. Intensity of a source of light of a specified frequency, which gives as specified amount of 

power in a given direction is 
a. Mole (Mol)    b. Candela (cd)  c. Ampere (A) 
d. Kelvin (K)    e. Answer not known 
nfhLf;fg;gl;l jpirapy; xU Fwpg;gpl;l msT jpwid toq;Fk; Fwpg;gpl;l mjph;ntz; 
nfhz;l xsp %yj;jpd; nrwpT ____ MFk;. 
a. Nkhy; (Mol)   b. Nfz;byh (cd)  c. Mk;gpah; (A) 
d. nry;tpd; (K)   e. tpil njhpatpy;iy 

 
60. An upward force exerted by the liquid on a floating body is 

a. Pressure    b. Friction   c. Surface tension 
d. Buoyant force   e. Answer not known 
kpjf;Fk; nghUspd; kPJ jputk; nray;gLj;Jk; Nky;Nehf;F tpir vd;gJ 
a. mOj;jk;    b. cuha;T   c. gug;G ,Otpir 
d. kpjg;G tpir   e. tpil njhpatpy;iy 

 
61. The SI unit of electric potential (or) potential difference is 

a. joule b. coulomb  c. volt  d. ohm e. Answer not known 
kpd;dOj;jk; (my;yJ) kpd;dOj;j NtWghl;bd; SI myF vd;gJ 
a. [_y; b. $Yk;  c. Nthy;l; d. Xk;  e. tpil njhpatpy;iy 
 

62. Match the important Agricultural Revolutions with its related products: 
Revolutions    Products 
A. Golden fibre revolution  1. Fertilizers 
B. Silver fibre revolution  2. Fish production 
C. Grey revolution   3. Jute production 
D. Blue revolution   4. Cotton 
 A B C D 
a. 2 1 3 4 
b. 4 3 1 2 
c. 1 2 3 4 
d. 3 4 1 2 
e. Answer not known 
,e;jpahtpd; Kf;fpa Ntshz; Gul;rpfis cw;gj;jpfSld; xg;gPLf: 
Gul;rpfs;    cw;gj;jpfs; 
A. jq;f E}ypiog; Gul;rp  1. cuq;fs; 
B. nts;sp ,iog; Gul;rp  2. kPd;fs; cw;gj;jp 
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C. rhk;gy; Gul;rp   3. rzy; cw;gj;jp 
D. ePyg; Gul;rp    4. gUj;jp cw;gj;jp 
 A B C D 
a. 2 1 3 4 
b. 4 3 1 2 
c. 1 2 3 4 
d. 3 4 1 2 
e. tpil njhpatpy;iy 

 
63. Which of the following river is not flowing towards east? 

a. Narmada   b. Mahanadi   c. Godavari 
d. Krishna   e. Answer not known 
fPo;f;fz;ltw;Ws; ve;j MW fpof;F Nehf;fp gha tpy;iy? 
a. eh;kjh   b. kfhejp   c. Nfhjhthp 
d. fpU~;zh   e. tpil njhpatpy;iy 

 
64. Which of the following is incorrectly paired? (Rivers and their tributaries) 

a. Mahanadi - Telen, Sandur 
b. Godavari - Purna, Penganga 
c. Krishna - Bhima, Koyna 
d. Kaveri - Thungabhadra, Palar 
e. Answer not known 
vJ jtwhf nghUj;jp cs;sJ? (MW kw;Wk; JizahW) 
a. kfhejp - nlyd;> re;J}h; 
b. Nfhjhthp - G+h;zh> ngd;fq;fh 
c. fpU~;zh - gPkh> nfha;dh 
d. fhtphp - Jq;fgj;uh> ghyhW 
e. tpil njhpatpy;iy 

 
65. There are _____ areas around the world which are qualified as biodiversity ‘Hotspot’. 

a. 43  b. 34  c. 64  d. 94  e. Answer not known 
cyfpy; ____ ,lq;fs; caphpdg;gd;ik jFjp tsikaq;fshf (?Hotspot) fUjg;gLfpwJ. 
a. 43  b. 34  c. 64  d. 94  e. tpil njhpatpy;iy 

 
66. Match the following correctly. 

A. INSAT    1. 1960 
B. Urban sprawl   2. Mumbai 
C. Konkan Railways  3. Satellite 
D. Border Roads Organization 4. Urbanization 
 A B C D 
a. 4 3 1 2 
b. 1 2 3 4 
c. 2 4 3 1 
d. 3 1 2 4 
e. Answer not known 
fPo;fz;ltw;iw rhpahf nghUj;Jf: 
A. (INSAT) ,d;rhl;   1. 1960 
B. Gwefug; guty;   2. Kk;ig 
C. nfhq;fz; ,uapy;Nt  3. nraw;iff; Nfhs; 
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D. vy;iyg;Gwr;rhiy epWtdk; 4. efukakhf;fy; 
 A B C D 
a. 4 3 1 2 
b. 1 2 3 4 
c. 2 4 3 1 
d. 3 1 2 4 
e. tpil njhpatpy;iy 

 
67. Assertion [A]: In India the first census was carried out in the year 1872. 

Reason [R]:  But the first complete and synchronous census was conducted in 
    1881. 
a. [A] is true but [R] is false. 
b. [A] and [R] are true; But [R] is not the relevant to [A]. 
c. Both [A] and [R] is false 
d. [A] and [R] are true, and [R] is the correct relevant to [A]. 
e. Answer not known 
$w;W [A]: ,e;jpahtpy; Kjy; kf;fs; njhif fzf;nfLg;G 1872-,y; njhlq;fg;gl;lJ. 
fhuzk; [R]: Mdhy; KOikahd Kjy; kf;fs; njhif fzf;nfLg;G 1881-,y; jhd; 
   Nkw;nfhs;sg;gl;lJ. 
a. [A] vd;gJ rhp; [R] vd;gJ jtW 
b. [A] kw;Wk; [R] ,uz;Lk; rhp; Mdhy; [R] vd;gJ [A] -Tf;fhd gjpy; my;y 
c. [A] kw;Wk; [R] ,uz;Lk; jtW 
d. [A] kw;Wk; [R] ,uz;Lk; rhp; [R] [A]-Tf;fhd rhpahd gjpyhFk; 
e. tpil njhpatpy;iy 

 
68. Which of the following statements are true about original inhabitants and their culture? 

(i) Indus civilisation had more than one group of people. 
(ii) Several groups including farmers past oralists and hunter-gatherers, lived in the 

Indus region. 
(iii) Indus civilisation had more than five group of people. 
a. (i) only   b. (i) and (ii) only  c. (i) and (iii) only 
d. (ii) and (iii) only  e. Answer not known 
`ug;gh kf;fSk;> gz;ghLk; vd;w jiyg;gpd; fPo;f;fz;l $w;wpy; rhpahdtw;iw Njh;e;njLf;f: 
(i) rpe;Jntsp ehfhPfj;jpy; xd;Wf;Fk; mjpfkhd FOf;fs; ,Ue;jd. 
(ii) rpe;Jntspapy; tptrhapfs;> fhy;eil tsh;g;Nghh;> Ntl;ilahLNthh; czT 

Nrfhpg;Nghh; cs;spl;l gy;NtW FOf;fs; tho;e;jpUf;fpwhh;fs;. 
(iii) rpe;Jntsp ehfhPfj;jpy; xd;Wf;Fk; mjpfkhd Ie;J FOf;fs; ,Ue;jd. 
a. (i) kl;Lk;   b. (i), (ii) kl;Lk;  c. (i), (iii) kl;Lk; 
d. (ii), (iii) kl;Lk;  e. tpil njhpatpy;iy 
 

69. ____ was given the title “Kaviraja”. 
a. Chandra Gupta  b. Vishnu Gupta  c. Samudra Gupta 
d. Sri Gupta   e. Answer not known 
‘ftpuh[h’ vd;w Gfiog; ngw;wth; 
a. re;jpu Fg;jh;  b. tp~;Z Fg;jh;  c. rKj;jpu Fg;jh; 
d. = Fg;jh;   e. tpil njhpatpy;iy 

 
70. Treaty of Bassein was singed between Peshwa Baji Rao II and 

a. Shivaji   b. Wellesley   c. Dalhousie 
d. Smith   e. Answer not known 
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Ngrpd; xg;ge;jk;> ,uz;lhk; ng];th gh[puhTf;Fk; ____ f;Fk; ,ilNa ifnaOj;jhdJ. 
a. rpth[p   b. nty;ny];yp  c. ly;n`srp 
d. Rkpj;   e. tpil njhpatpy;iy 

 
71. The Tiruchirappalli Proclamation was issued by 

a. Velu Nachiyar  b. Queen Mangama  c. Veerapandiya Kattabomman 
d. Marudu Brothers  e. Answer not known 
jpUr;rpuhg;gs;sp gpufldk; ntspapl;lth; 
a. NtY ehr;rpahh;  b. uhzp kq;fk;khs;  c. tPughz;ba fl;lnghk;kd; 
d. kUJ rNfhjuh;fs; e. tpil njhpatpy;iy 
 

72. Choose the correct statement: 
(i) The members of the Rajya Sabha should not be less than 30 years of age 
(ii) The members of the Rajya Sabha are directly elected by the people 
(iii) The 12 nominated members shall be chosen by the President from amongst 

persons experience in the field of Literature, Science, Art or Social service 
(iv) Total members of the Rajya Sabha is 250 
a. (ii) and (iv) are correct    b. (iii) and (iv) are correct 
c. (i) and (iv) are correct    d. (i), (ii) and (iii) are correct 
e. Answer not known 
rhpahd $w;iw Njh;T nra;f: 
(i) khepyq;fsit cWg;gpduhtjw;F 30 taJf;Ff; Fiwthf ,Uj;jy; Ntz;Lk;. 
(ii) khepyq;fsit cWg;gpdh;fs; Neubahf kf;fshy; Njh;e;njLf;fg;gLfpd;wdh;. 
(iii) ,yf;fpak;> mwptpay;> fiy r%f Nrit Mfpa Jiwfspd; rpwe;j mwpT kw;Wk; 

mDgtk; ngw;w 12 egh;fis khepyq;fsitf;F FbauRj; jiyth; epakpf;fpwhh;. 
(iv) khepyq;fsitapd; nkhj;j cWg;gpdh;fspd; vz;zpf;if 250 
a. (ii) kw;Wk; (iv) rhpahdit   b. (iii) kw;Wk; (iv) rhpahdit 
c. (i) kw;Wk; (iv) rhpahdit    d. (i), (ii) kw;Wk; (iii) rhpahdJ 
e. tpil njhpatpy;iy 
 

73. Match the following: 
A. Article – 15 1. Prohibition of discrimination on grounds of religion, caste, 
       Gender, 
B. Article – 16 2. Equality of opportunity in public employment. 
C. Article – 26 3. Freedom to manage religious affairs 
D. Article – 29 (2) 4. A ban on discrimination in state aided education institution. 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 1 2 3 4 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf. 
A. gphpT – 15 1. rkak; ,dk; rhjp> ghypdk; my;yJ gpwg;gplk; Mfpatw;wpd; 
      mbg;gilapy; ghFgLj;Jtijj; jil nra;fpwJ 
B. gphpT – 16  2. nghJ Ntiytha;g;gpy; rkkhd tha;g;gspj;jy; 
C. gphpT – 26 3. rka tptfhuq;fis eph;tfpf;Fk; Rje;jpuk; 
D. gphpT – 29(2) 4. muR cjtpngWk; fy;tp epWtdq;fspy; ghFghL fhl;l jil 

 A B C D 
a. 4 3 2 1 
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b. 4 3 1 2 
c. 1 2 3 4 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

74. (i) Culture is language, Food, Dress, social habits of people. 
(ii) India is a multi cultural hub. 
a. (i) is True    b. Both are True  c. (i) is True (ii) is False 
d. (i) is False (ii) is True  e. Answer not known 
(i) gz;ghL vd;gJ kf;fspd; nkhop> czT> cil> r%fg; gof;fq;fis Fwpf;Fk;. 
(ii) ,e;jpah gd;Kf gz;ghl;L Nfe;jpukhf cs;sJ. 
a. (i) kl;Lk; rhp   b. ,uz;Lk; rhp  c. (i) rhp (ii) jtW 
d. (i) jtW (ii) rhp   e. tpil njhpatpy;iy 

 
75. ____ article of the Indian constitution is to forbidden to impart religious education in any 

state funded Institution. 
a. 14th  b. 28th   c. 29th  d. 30th  e. Answer not known 
,e;jpa murpayikg;gpd; ______ gphptpd; fPo; muR epjpAjtp ngWk; ve;j epWtdj;jpYk; rka 
fy;tpia toq;FtJ jilnra;ag;gl;Ls;sJ. 
a. 14-tJ b. 28-tJ c. 29-tJ d. 30-tJ e. tpil njhpatpy;iy 
 

76. If 
2

= 1
1

1+

1+
1-

x

x

x

, then find the value of x 

a. 
1

3
  b. 

2

3
  c. 1  d. 2  e. Answer not known 

2
= 1

1
1+

1+
1-

x

x

x

vdpy;> x d; kjpg;igf; fhz;f. 

 

a. 
1

3
  b. 

2

3
  c. 1  d. 2  e. tpil njhpatpy;iy 

 
77. The radius of circle is increased by 1% what is the increase percentage in its area? 

a. 1%  b. 1.1% c. 2%  d. 2.01% e. Answer not known 
tl;lj;jpd; Muk; 1% mjpfhpj;jhy;> mjd; gug;gsT vt;tsT rjtPjk; mjpfhpf;Fk;? 
a. 1%  b. 1.1% c. 2%  d. 2.01% e. tpil njhpatpy;iy 
 

78. Out of 20 beads, 5 beads are red. What is the percentage of red beads? 
a. 10%  b. 15%  c. 20%  d. 25%  e. Answer not known 
nkhj;jKs;s 20 kzpfspy; 5 kzpfs; rptg;G vdpy; rptg;G kzpapd; rjtPjk; vd;d? 
a. 10%  b. 15%  c. 20%  d. 25%   e. tpil njhpatpy;iy 
 

79. Find the highest common factor (HCF) of 
2 4

,
15 5

 and 
6

15
 

a. 
4

3
  b. 

5

6
  c. 

2

15
  d. 

4

5
  e. Answer not known 
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2 4
,

15 5
kw;Wk; 

6

15
 f;F kPg;ngU nghJ fhuzpiaf; fhz;f. 

a. 
4

3
  b. 

5

6
  c. 

2

15
  d. 

4

5
  e. tpil njhpatpy;iy 

 
80. If the HCF of 65 and 117 is expressible in the form of 65m-117, then what is the value of 

m? 
a. 4  b. 3  c. 2  d. 1  e. Answer not known 
65 kw;Wk; 117 Mfpa vz;fspd; kP.ng.t. 65m-117 vdpy; m-d; kjpg;G vd;d? 
a. 4  b. 3  c. 2  d. 1  e. tpil njhpatpy;iy 
 

81. Find the LCM of 15, 25 and 75 
a. 15  b. 25  c. 75  d. 65  e. Answer not known 
15> 25 kw;Wk; 75 Mfpatw;wpd; kP.rp.k. fhz;f. 
a. 15  b. 25  c. 75  d. 65  e. tpil njhpatpy;iy 
 

82. Find the LCM of 
-9a3b2c, 12a2b2c2 
a. 36a3b2c   b. – 108 a5b4c3  c. – 36a3b2c2 

d. 108a3b3c2   e. Answer not known 
kP.rp.k fhz;f. 
a. 36a3b2c   b. – 108 a5b4c3  c. – 36a3b2c2 

d. 108a3b3c2   e. tpil njhpatpy;iy 
 

83. If a : b = 2 : 3 and c : d = 4 : 7 then a : d is _____ 
a. 8 : 21 b. 12 : 21 c. 21 : 8 d. 21 : 12 e. Answer not known 
a : b = 2 : 3 kw;Wk; c : d = 4 : 7 vdpy; a : d = ____ 
a. 8 : 21 b. 12 : 21 c. 21 : 8 d. 21 : 12 e. tpil njhpatpy;iy 
 

84. A mat of length 180 m is made by 15 women in 12 days. Then the time taken for 32 women 
to make a mat of length 512 m is 
a. 14 days   b. 16 days   c. 18 days 
d. 24 days   e. Answer not known 
180 kP ePsKs;s xU ghapid 15 ngz;fs; 12 ehl;fspy; nra;jdh;. 512 kP ePsKs;s xU 
ghapid 32 ngz;fs; nra;a MFk; ehl;fs; ____. 
a. 14 ehl;fs;   b. 16 ehl;fs;   c. 18 ehl;fs; 
d. 24 ehl;fs;   e. tpil njhpatpy;iy 
 

85. An aircraft can accommodate 280 people in 2 trips. Then the number of trips required for 
1400 people is 
a. 8  b. 10  c. 9  d. 12  e. Answer not known 
280 egh;fs; xU tpkhdj;jpy; 2 Kiw gazk; nra;fpd;wdh;> vdpy; mt;tpkhdj;jpy; 1400 
egh;fs; gazk; nra;Ak; Kiwfs; 
a. 8  b. 10  c. 9  d. 12  e. tpil njhpatpy;iy 
 

86. Find the simple interest Rs. 3,000 at 6¼ % per annum for the period from 4th Feb 2005 to 
18th April 2005. 
a. Rs. 36.50   b. Rs. 37.50   c. Rs. 38.50 
d. Rs. 39.50   e. Answer not known 
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mry; &. 3>000 MdJ 6¼ % tUl tl;b tPjj;jpw;F 4 gpg;uthp 2005 Kjy; 18 Vg;uy; 2005 
tiu cs;s fhyj;jpy; fpilf;Fk; jdptl;b fhz;f. 
a. Rs. 36.50   b. Rs. 37.50   c. Rs. 38.50 
d. Rs. 39.50   e. tpil njhpatpy;iy 
 

87. A person lent a sum of money @ 6% per annum. In 8 years, the simple interest was Rs. 
260 less than the sum lent. Find out the sum lent. 
a. Rs. 400 b. Rs. 450 c. Rs. 500 d. Rs. 525  e. Answer not known 
xUth; Xh; njhifia Mz;bw;F 6% tPjk; jdptl;bf;F tpLfpwhh;. 8 Mz;Lfspy; mjd; jdp 
tl;bahdJ mriy tpl &. 260 FiwT vdpy; mth; tl;bf;F tpl;l njhif ahJ? 
a. &. 400 b. &. 450 c. &. 500 d. &. 525  e. tpil njhpatpy;iy 
 

88. Find compound interest on Rs. 15,000/- for 3 years if the rates of interest are 15%, 20% 
and 25% for I, II and III years respectively. 
a. Rs. 10,875   b. Rs. 25,875   c. Rs. 17,250 
d. Rs. 20, 875   e. Answer not known 
I kw;Wk; III Mz;LfSf;fhd tl;b tPjq;fs; KiwNa 15%, 20% kw;Wk; 25% vdpy; &. 
15,000/- f;F 3 Mz;LfSf;F fpilf;Fk; $l;L tl;biaf; fhz;f. 
a. &. 10,875   b. &. 25,875   c. &. 17,250 
d. &. 20, 875   e. tpil njhpatpy;iy 
 

89. Find the compound interest on Rs. 10,000 at 8% p.a. for 
3

2
4

 years, interest compounded 

yearly. 
a. Rs. 2363.84   b. Rs. 2633.48   c. Rs. 4600.44 
d. Rs. 5300   e. Answer not known 
&. 10>000 ,f;F 8% Mz;L tl;bapy;> Mz;Lf;nfhU Kiw tl;bf; fzf;fplg;gLk; Kiwapy; 

3
2

4
 Mz;LfSf;F> fpilf;Fk; $l;L tl;biaf; fhz;f. 

a. &. 2363.84   b. &. 2633.48   c. &. 4600.44 
d. &. 5300   e. tpil njhpatpy;iy 
 

90. Find the total surface area of a cuboid whose length, breadth and height are 4.5m, 3 m, 
2.5 m respectively 
a. 44.5 m2 b. 54.5 m2 c. 64.5 m2 d. 74.5 m2 e. Answer not known 
fdr; nrt;tfj;jpd; ePsk; mfyk;> cauk; KiwNa 4.5kP> 3kP> 2.5kP vdpy; nkhj;jg; gug;ig 
fhz;f. 
a. 44.5 r.kP. b. 54.5 r.kP. c. 64.5 r.kP. d. 74.5 r.kP. e. tpil njhpatpy;iy 
 

91. Three identical cubes of side 4 cm are joined end to end. Find the total surface area of the 
new resulting cuboid. 
a. 224 cm2 b. 226 cm2 c. 222 cm2 d. 228 cm2 e. Answer not known 
4 nr.kP. gf;f msT cila xNu khjphpahd 3 fdr;rJuq;fs; xd;NwhL xd;W gf;fthl;by; 
,izf;fg;gLk; NghJ fpilf;Fk; Gjpa fdr;nrt;tfj;jpd; nkhj;jg;gug;G fhz;f. 
a. 224 r.nr.kP.   b. 226 r.nr.kP.   c. 222 r.nr.kP. 
d. 228 r.nr.kP.   e. tpil njhpatpy;iy 
 

92. A and B together can do a piece of work in 12 days and A alone can do it in 36 days. How 
long will B take to complete work? 
a. 18  b. 24  c. 36  d. 48  e. Answer not known 
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A kw;Wk; B Mfpa ,UtUk; ,ize;J xU Ntiyia 12 ehs;fspy; Kbg;gh; A jdpNa me;j 
Ntiyia 36 ehs;fspy; Kbg;gh; vdpy; B jdpNa me;j Ntiyia vj;jid ehs;fspy; 
Kbg;gh;? 
a. 18  b. 24  c. 36  d. 48  e. tpil njhpatpy;iy 
 

93. It takes 120 minutes to weed a garden with 6 gardeners. If the same work is to be done in 
30 minutes, how many more gardeners are needed? 
a. 15  b. 18  c. 24  d. 30  e. Answer not known 
xU Njhl;j;ij fisnaLf;f 6 Njhl;lf;fhuh;fSf;F 120 epkplq;fs; Njitg;gLfpd;wd 
vdpy;> mNj Ntiyia 30 epkplq;fspy; nra;J Kbf;ff; $Ljyhf vj;jid 
Njhl;lf;fhuh;fs; Njit? 
a. 15  b. 18  c. 24  d. 30  e. tpil njhpatpy;iy 
 

94. A is shorter than B, but taller than C 
D is shorter than A, but taller than C 
E is shorter than B but taller than A 
The shortest person is 
a. A  b. B  c. C  d. D  e. Answer not known 
A, B ia tpl rpwpaJk;> C ia tpl nghpaJkha; ,Uf;fpwJ. D, A ia tpl rpwpaJk;> C 
ia tpl nghpaJkha; ,Uf;fpwJ. E, B ia tpl rpwpaJk; A ia tpl nghpaJkha; ,Uf;fpwJ 
vdpy; ,jpy; kpfTk; rpwpaJ vJ? 
a. A  b. B  c. C  d. D  e. tpil njhpatpy;iy 
 

95. The probability of getting a king  or a queen or a jack from a deck of cards is 
a. 4/5  b. 1/2  c. 3/13  d. 1/4  e. Answer not known 
ed;F fiyf;fg;gl;l rPl;Lf; fl;bypUe;J xU uh[h my;yJ uhzp my;yJ xU giltPud; 
tUtj;wfhd epfo;jfT 
a. 4/5  b. 1/2  c. 3/13  d. 1/4  e. tpil njhpatpy;iy 
 

96. The principal becomes Rs. 17,000 at the rate of 12% simple interest in 3 years. Find the 
principal. 
a. Rs. 10,250   b. Rs. 12,500   c. Rs. 13,500 
d. Rs. 17,000   e. Answer not known 
xU Fwpg;gpl;l njhifahdJ 3 Mz;Lfspy; 12% jdptl;b tPjj;jpy; &. 17>000 Mff; 
fpilf;fpwJ vdpy;> me;jj; njhifiaf; fhz;f. 
a. &. 10,250   b. &. 12,500   c. &. 13,500 
d. &. 17,000   e. tpil njhpatpy;iy 
 

97. By assuming A → 1, B → 2, C → 3, ….. Z → 26, find out the values of  and  in the 
sequences. 

Sequences: FJ, 25, 16, NS ; LZ, 25, 196, SX; NQ, , , WY: 
a. 4, 9  b. 9, 4  c. 8, 27  d. 27, 8 e. Answer not known 

A → 1, B → 2, C → 3, ….. Z → 26 vd;wthW nfhLf;fg;gl;l thpirapy;  kw;Wk;  tpd; 
kjpg;ig fhz;f. 
thpir: FJ, 25, 16, NS ; LZ, 25, 196, SX; NQ, , , WY: 
a. 4, 9  b. 9, 4  c. 8, 27  d. 27, 8 e. tpil njhpatpy;iy 
 

98. Number of terms of the series 0.40 + 0.43 + 0.46 + …. + 1 is 
a. 20  b. 19  c. 30  d. 21  e. Answer not known 
0.40 + 0.43 + 0.46 + …. + 1vd;w njhlhpYs;s cWg;Gfspd; vz;zpf;if 
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a. 20  b. 19  c. 30  d. 21  e. tpil njhpatpy;iy 
 

99. Find the sum of infinity of 21 + 14 + 
28

3
+…. 

a. 
63

5
  b. 7  c. 63  d. 

63

2
  e. Answer not known 

vd;w KbTwhj; njhlhpd; $Ljy; fhz;f. 

a. 
63

5
  b. 7  c. 63  d. 

63

2
  e. tpil njhpatpy;iy 

 
100. Find the 12th term from the last term of the A.P. -2, - 4, - 6, …., - 100. 

a. – 84  b. – 78  c. – 70  d. 78  e. Answer not known 
-2, - 4, - 6, …., - 100 vd;w $l;Lj; njhlh; thpirapy; ,Wjp cWg;gpypUe;J 12tJ cWg;igf; 
fhz;f. 
a. – 84  b. – 78  c. – 70  d. 78  e. tpil njhpatpy;iy 

 


